6.1 Equations, Tables, & Graphs

Introduction to Linear Relationships

NOTES

Write your
questions here!
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Input (x)

Output (y)

Cartesian Plane

Ordered Pairs

Graph

Graph the function y= 74x
with the domain {0, 4, 8, 12}
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Graph the equation of a line:

1) Graph y = 3x - 2 with the domain: 0, 1, 2, 3, 4.
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Is the point (5, 8) a solution to y =-2x + 3?

et 7 12 19 30
Input Output
3 : 15 Output [
5 25 10 15 22 33
8 40
10 50
y= y=
Summarize your notes:
Now,
summarize
your notes :>
here!
6.1 Equations, Tables, & Graphs
Introduction to Linear Relationships PRACTICE

For 1-6, state the coordinates of the point. For 6-9, plot the points in a coordinate plane.
Describe the location of the point (what quadrant?)
1. A - SRR S
( ) ) 6 _ 1 £ 6. Q (-1,5) ; I
2.C(C , ) “
1 - 7.5(0,0) =ttt
3' E ( ’ ) ! oJ 1 : I o x * : ; >
H B E :
¢ *a 8. U(0,6) 1
4.G( , ) T
9. W (3,-2.5) 1] 1
S 00, )




10. Fill in the table!
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11. Given the table. Graph the line.
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12. Given the graph. Fill in the table.
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13. Given the equation. Fill in the table. 14. Given the equation. Make the graph.
(HINT: Make a table if you need it!)
y==3x+6 y=x-5
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Make a table for the function. Identify the range of the function.

15, y=1x+7 16.y=x+3.5 17.. +3
Domain: 2, 6,10, 12 Domain: 12,15, 22,30 o

Domain: 4, 6,9, 11

18. Table representing price of gas per gallon.

Input (gallons) | 10 |12 113 |17
Output(dollars) [19.99  [2399  |2599  |3398

Domain:
Range:




19. Graph the equation of a line:

3
=—x—4
YTy

Domain Equation Range
Input Output
(x) ()
. . 2
20. Graph the equation of aline: y= —gx +3
Domain Equation Range
Input Output
(x) (v)




Write an equation for the following table.
21. | Inputx 15 |20 |21 [30 [42 22. ,
Output, y 7 12 13 122 | 34 |lnput(.\] ”4 |7 ”10 |13 ‘
|output (y) 8 fin fe 17
23. ]nputs' X 2 4 7 8 24‘- Input (X) '1 0 2 5
Qutputs,y [7 |9 12 [13 Output (y) -3 0 6 15
25. | Input (x) 11 | 15 23 34 26. | Input (x) 5 8 11 18
Output 22 | 30 46 68 Output (y) -2 1 4 11
)
27. | Input (x) 1 3 5 7 28. | Input (x) 8 12 16 20
Output -1 -3 -5 -7 Output (y) 2 3 4 5
)
CHECKING SOLUTIONS Tell weather the ordered pair is a solution to the equation.
29 2y+x=4% (—2,3) 30. X=9 (9,6) 31 Tx—4y =1 (—3,-5)
32. ERROR ANALYSIS Describe and correct the error in
ietermining whether (8, 11) is a solutionof y — x = —3 y—x=—3
-3 =-3 (8,1)isasolution.

33. MULTIPLE CHOICE Which ordered pair is a solution of 6x 4+ 3y = 187

A (-2,-10)

B. (-2, 10)

C. (2,10)

D. (10,-2)




5.6 Equations, Tables, & Graph
aua lltl)tgguctioz:to Lieniar Relatilc:r?s?ipss AP PLICATION

1. Use the graph to fill in the table.

A

2. Is G, —6) a solutionto y = 4x — 4 ? Show work!

3. The journalism class makes $25 per page of advertising in the yearbook. If the class sells p pages
of advertising, how much money will the class earn?

Fill in the table and write an equation for the scenario.

# of pages (p) 0 1 2 3 4 p
Money Earned (M)

Equation: M=

4. Write an equation to represent the linear relationship between Keith and Chuck’s prospective
ages?

Keith and Chuck were born on the ecact day, but not n the same year.
Thelr ages are shown In the table below.

Keith's Age (K) 12 15 19 27 32 33 K
Chuck’s Age (C) 9 12 16 24 29 30

Equation: C=



